aﬁmuﬁmuia%/South East Central Railway
25% SQQ fermira srer Sra-Il & fata forega (.= E1e) feuT, Taqu Heet § dertRre st (6.9.57%) &
g = foTq -9 |
Question paper for the selection to post of Tech-IIT (TRS) in Pay Matrix level-2 against 25% SQQ
departmental quota in Elect./TRS Departmental of Raipur Division.

udteyr fereft /Exam Date . 18-01-2022 tL‘TI'TT:F/Max. Marks ;100
g9 / Time . 10:00 ¥ 12:00 S91dH 374 / Duration . 120 fi2 / Min.

m%%‘q ATayah TSI /Instructions to the candidate
1. foRea wer d 100% g ware it agfasweda € |

Written examination consists of 100% objective and the entire question are in the multiple choices.
2. Fe 110 7 R e 10 Tsmmer 3 Sewfeueser 81

Total 110 questions are given including 10 questions on Rajbhasha {(Optional).

3. Suficanl sl gerg & St @ foh 3 e 100 ST Tl I e W U 3ok o @, Al e gra 100 ¥ 1feres st &1

IR T2 ST €, <t et geet 100 S 7 € et faR s |

Candidates are advised to answer only 100 questions. All objective questions will carry equal marks. Each question

carries one mark, if the candidate is attempted more than 100 questions, only first 100 questions attempted will be

evaluated.

4. T ST % foTC TR 3o BNTICE Wi el ST o fAIT 1/3 3ish st =l et 3reifa 3 Trerd 393 & fole ush 3

hIET ST |

There shall be negative marking for incorrect answer. 1/3 of the marks allotted per question will be deducted for

.every wrong answer that means for 3 wrong answers one mark will be deducted.
5. Inzpeff ot et Uohel T T et AT hict TT T SHANT AT & ST ITehT I IR a7 JeiehT et fehalt ST |

Candidate should use only single colour ink blue or black otherwise their answer sheet will not be evaluated.

6. IS YHR & W 1 I < THATRHT TR hT sl i, sl weifia g me 3ot T e 99 R

S

While answering objective type question, no correction like overwriting, cutting, erasing, scoring of ticked answer

and modifying the answer in any way shall not be evaluated.

7. IriCARY Y wET Ee ¥ Wi B, FAgaiet, I i, segy I o ST Y a1

Candidates are not allowed to carry mobile phones, calculator, electronic watches, Bluetooth’s etc. in the

examination hall.

8.  Iufiqar &I SUAT AT, Ut e, 1Y A HT T AT HIs Yga g T foramr =nfew FHewt 1 uem = 3 faeear v

TRUTEEY 3T 81 ehell 31

The candidate should not write his/her name, roll no., place of working or any identification marks. Failure to

observe the instructions may result in disqualification.

9. O i 3 o wreaw © R) faane i Reufar F 10 war =Y wranfores vy St |

The question paper has been set in English and Hindi. In case of ambiguity the English version is to be considered

authentic.
10.  forelt oft argfera wme & At o Sefieart # & R fea smam)
In case of any unfair means the candidature will be cancelled.

11.  SPEaTEuies 3 = et 4 yreq &L |

Candidates should strictly follow the above instruction.
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"ReteR s 3T ©

) Freiar T Qe st @ fored Yo da 1 P A g@r S g |

@) Fircer e Ueht wrtars @ vt Yo S &) gt @ ger e T R |

) Firefor U et it R Rred ot Qo g2t & st ¢ far s ¥ |
) HE T

What is mcan by “suspension”

a) Suspension is an action where by railway servant is kept out of duty.

b) Suspension is an action where by railway servant is removed from duty.

¢) Suspension is an action where by railway servant is dismissed from duty.

d) None
G EEEEN T el fora ST HeaT 2 |
T 12fF st 20 fe . 15 fe &, 79 & s T
Paternity leave can be sanctioned up to
a. 12 days b. 20 days c. 15 days. d. None of these
o e AL forg ure } af 9% o1 e § e S € |
T 8 fFef @ e . 6 KM ¥ 3mt c. 10 fereft & atferen 2. 37 9 S T
Railway staff is eligible for TA/DA if he goes out of his headquarters.
a. Beyond 8§ KM . b. Beyond 6 KM c. Beyond 10 KM d. None of these
RGEREED & THIL B |
T, FoeX a7 15 foa 1 geradt . dheiet 9y # 30 o =1 Tt
TT. U Sheret a | 20 7 w1 waadt .3 | I A—d
Railway servant shall been entitled to .
a. 15 days LAP in a Calendar Year b. 30 days LAP in a Calendar Year
c. 20 days LAP in a Calendar Year d. none of these
T & fog F fore faey sTrenfareh staem wiiena foram ST RS |
T 02 f . 03 f& . 01 f&7 R AR T
For blood donation, special casual leave can be sanction for
a. 02 days b. 03 days c. 01 day d. None of these
T ST hT TR A TG LerohHl
a. 90 &t b. 120 f&= c.180 fam d. 9 Y 1S e
Female Railway servant entitled for maternity leave for :
a. 90 days b.120 days c.180 days d. None of these
& YT Tl Sl fore AT & oft ST S 2 :
AZT17 B.3718 C.3719 D.3720
Vande Bharat express is also known as?
A.Train 17 B.Train 18 C.Train19 D. Train 20
"ded 3 ST e aw A Rua §?
A. o1 B. H&s C. IR D 3HeTET
In which City “Gateway of INDIA “is Located?
A. Pune B. Mumbai C. Raipur D Ahmedabad
CAE s | 0 — HAAME & 1H W 8 ST v gl
A. Frer AT B. sf3am C. arerdiely D. 7F &
Dandi March was also Known as ------- Satyagraha.
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10.

-11.

12.

13.

14.

- 15.

16.

17.

18.

19.

20.

A. Pepper B. Indigo C. Cinnamon D. Salt
S @1 WaNd HITe Ug & HARET AT &1 a1F F47 §7?

A. TgaTT B. anfeca C. FIre T D 3=
What is the name of the Space mission to MARS launchedbyISRO

A. Chandrayaan B. Aditya C. Mangalyaan D.Suryayaan
15 Hiex Tiaimg 31K 8 Hicx SIS aTet 3T T &%l T hifory

©) 120 It ot ) 111 af ot ©hy 115 at ot 2 125 et ofy
Find the area of a rectangle having 15 m length and 8 m breadth.

A). 120 sqm B). 111 sqm C). 115Ssqm D). 125sqm

At T ot ot [T 20 Bt R, Y IR At 1 vy

T) 100 =t At st 150 =t ot dh 400 f anfy 2 350 af |t
If side of a square is 20 cm, find its area.

A). 100 sq cm B). 150 sq cm C). 400 sq cm D). 350 sq cm
x2+10x+24 . & UGS 14 HIfvT -

Q) (x—6)(x—4) o) (x—6)(x+4) M) (x+6)(x—4) 21) (TF+6)(TF+4)
Find the factors of x2+10x+24

A). (x—6)(x=4) B). (x—6)(x+4)- C). (x+6)(x—4) D). (x+6)(x+4)
TS T THY AT o6 WTeam & Hie T R ST 3

() FEwT (el wfehe sreht () s (2 Tl e
Current is collected from OHE to A.C. loco through

(a) Transformer (b) circuit breaker (c) pantograph (d) servo motor

TFP i 3ie amfen w 2 fopess fo g e &

(Q) it FeAor () SoTe & g

GUEHSIEN T (&) et & AeRfeT 8 s

Taps on auto winding of TFP are provided for

(a) speed control (b) protection from surges

(c) shorting of windings - (d) avoiding overloading of TFP

Tt et ot gar e o e s fRar s @ -

() TETe afhe # 31 Ay (&) I | AR () forsteft wfehe & anef <y @ e
QOP relay is used to detect

(a) Earth fault in auxiliary circuit (b) Over current  (c) Earth fault in power circuit (d) Surges
qftafda w6 forg wdft. <t , det o frefaRaa Sueot &1 ST fRa ST @

(O gaeTt EhepHTRe - () Rferh iR @ afe

For converting a.c. to d.c., following equipment is used in locos

(a) Transformer (b) Smoothening reactor  (c) Silicon Rectifier (d) Circuit breaker
freferfiaa & & #17 w g T @
(@) wEfidt gfie CUESEE] GOESSIET @) FfER aEe
Which one of the following is not a safety item
(a) ACP Unit (b) Hand brake (c) Head Light (d) Corridor Light
feareh e Tiet 1 arfireaw sTdien § '
(T) 895 AHTH @) 1000 AT (&) 1100 ATy &1 1250 ATHTH
The maximum rpm of a Hitachi Traction Motor is
(a) 895 rpm (b) 1000 rpm (c) 1100 rpm (d) 1250 rpm
TSR T @
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21.

23.

24.

25.

26.

217.

28.

29.

(@) S\t @&y wedy M (&) Ffader e (@) 37 & IS TE
MVRH is a

(a) D.C.Motor (b) A.C.Motor (c) Universal Motor (d) none of these
g i s @
W) T3 AT & FHron aft) T s TTE % T

) afe g 2fes vare v & fve aret e @ s @ 21) IWs o | RS AR
Wheel slipping occurs
a) due to Down gradient b) due to poor brake power

¢) if applicd tractive effort is more than adhesive weight of loco d) none of the above
WAG-7 3R WAP4 $51 | YW TFP il KVA Yfe &

T) 3460 HATT &) 3900 FHeT o) 5400 Fefg 21 6000 Fig
KVA rating of TFP used in WAG-7 & WAP4 locos is

a) 3460 KVA b) 3900 KVA c) 5400 KVA d) 6000 KVA
LA GEETR R

a) A33-A0 3T ZiHT TERET ] b) A34-A0 AT AT ]

c) a0 — al HETI AEET d)mﬁHﬁ%

In Traction Transformer

a) A33-A0 is Auto Transfer Winding b) A34-A0 is Primary Winding

c¢) a0 — al is Auxiliary Winding d) All are correct

ARNO T 39 & fere fram simar @

MEIRUEIRWS b) 1P A3 D ac. dFTaE FET

T Suwdt I ST HEAT ) Tt i afataa s SLELE,

ARNO is used for

a) Cooling T.M. b) Converting 1Pto3Pac.

c¢) Cooling TFP oil d) Converting a.c. to d.c

STl T i e sieem o fore freforfa @6t s fomar st &:

egkirilue ) fadt o) vifén vucherat <) o
For changing direction of loco movement, following is used

a) CTF . b) Reverser ¢) Shunting contactor d) Pantograph
GeM =1 A GH AT -

(Q) TeHE $-0Tehe < CUREEETER: Carul

(&) T 3-mTeRfeT faRH () TR WIS $-HThfen

What is full form of GeM :-

(a) Government e-Market Place (b) Government e-Marketing

(c) Government e-Marketing system (d) General purpose e-Marketing

far wifes e o aftom gar @

(© g gE wtt CUREESEIE @ e T (@) Ve S g
The low power factor results in

(a) Increased losses  (b) Decreased losses  (c) No effect on losses  (d) Better generating efficiency
aim 3 foam & sran

©) off = amgIm ) ot = 3yrd/am o) o1 = feawans g 37 | RIS Tt

As per Ohm’s law

a)V=IR b) V=T1/R ¢) R=Vxl d) none of these
ey <t 38 &
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

a) TR b) dtee ¢) 3m d) 3T | 1S 7T

Unit of resistance is

a) Ampere b) Volts c¢) Ohm d) none of these

0 Fst oft foreqer e ) a1t ) ferera yare

A kilowatt-hour is a unit of

a) Energy b) Electrical potential c) Power d) Electric current
WAG-7 H el &7 ST forarm trar @

Q) TETeT -30 sft) Tawet -40 w42 ) i3 7

In WAG-7 loco is used

a) SL-30 b) SL-40 ¢) SL-42 d) None

e <l ¥ e sew o fremiz QT

Q10031109 &) 100 3 1209 ©h) 100 3R 90 aTE 2 80 3R 100 e
Twin Beam Head Light bulb has twin filament of

a) 100 and 110 watts  b) 100 and 120 watts c) 100 and 90 watts d) 80 and 100 watts
ST o I Ferteft 3 fRve R strar

Q) CRARTAAT FAa3T Ty 3 AT (Fham) ©h e gt <) HETIh HIT (TET)

BA are used for powering

a) ARNO convertor  b) Traction Motor (TM)  c¢) Cab heater d) Auxiliary compressor (MCPA)
RIS T ST H1o 3 for fowart sy 2

a) BA T SA9ZITISE 1 &I b) BS # HIEd et =Tt

¢) FeiergIetTse w1 farfire e d) BA &1 efifet diees
Hydrometer is used for measuring

a) level of electrolyte in BA b) total charge stored in BS

¢) specific gravity of electrolyte d) terminal voltage of BA
Q9 TRARIM o AT i fageh AT ok Rreier o HATIHAH IR ¥

%) 2.5 fRum/ai ) 3.5 fopm/ T ) 2.0 ferm/ S ) 5.0 form a2
Maximum air pressure in electric loco brake cylinder with A9 application is
a) 2.5 kg/cm?2 b) 3.5 kg/cm2 ¢) 2.0 kg/cm2 d) 5.0 kg/cm2

et At 1 e for 3 e 3ver 3 faeing =6t afomr

Q) TS FRIH off) A 7 afg T ST i fi 2t) IWE A § IS 7
Disturbance of neutral axis of rocker ring in a DC motor will result in

a) poor commutation b) increase in voltage  c) jamming of bearing  d) none of the above
a7 SATewa STIAA g ST e

Q) T o o 2.5 Tt =) e & =t 8 fadt ) 3T () 3 () 2 &ig T
Maximum allowed wheel dia variation in service

a) on same axle is 2.5 mm  b) one same bogie is 8 mm  c) Both (a) & (b) d) None
WrehY T Aferan e Tam@ @

a) AT g fIenfira atferman wifts b) 50 KMPH W &t g fersrfir arfrenaw <k

o) o =gt e v v e s s sy < d) S oft wdh i ¥
Maximum Tractive effort of a loco is the

a) maximum power developed by the loco  b) maximum torque developed by the loco at 50 KMPH ©)
maximum starting torque developed by the loco without wheel slipping  d) None is correct

TFP ¥ 3TEMI=Adra <l Ial o & e iy 2
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40.

41.

42,

43.

44,

45.

46.

47.

48.

49.

50.

() FARTEATE (st T GRS (&) T

Relay to detect abnormalities in TFP is

(a) QRSI (b) QOP (c) QLM (d) Q0A
TR Free % Rawres daw Hied oh ge o for, FrfaRaa fet <6 s o sirar &

(@) gy () 7920 (&) gt (2N FgEITTCET
For protection of traction motors against over voltage, following relay is used

(a) QOP (b) Q20 (c) QD (d) QRSI

TUHTE G 3 WA B HH HTT

Q) g e aff) < e 4ty sieh Tt <) 3t () 3 )
AFL circuit works in case of

a) train parting b) chain pulling c) brake application d) both (a) & (b)
TS GRS HIZT T FYCTE a1 ©

() T A () =ft e (&ft) o v () it e

The insulation class of an auxiliary motor is

(@HClass (b)BClass (c)FClass (d)CClass

H3r I3 1 g F <f=r gurifre foram s 2

(@ 6 ¥ 10 ¥ @) 53 10 Ve (&) 5 & 8 A SYELE]

Panto raising time is adjusted between

(a) 6 to 10 sec. ~ (b) 5to 10 sec. (c) 5 to 8 sec. (d) None
e Sk fircen % forg strarvaeh o s 3 frg PR sueror 1 swsiiT fomam s :
T) YT fh) TRt W1 shaea € et

For creating vacuum required for pneumatic brake system following equipment is used
a) compressor b) exhauster c) VA-1B valve d) ARNO

WAP @Rt §, 7. 5o fciet & 8

@38 @M 10 (& 12 @ 16

In a WAP loco, the no. of brake cylinders are

(a).8 (b) 10 - (c) 12 (d) 16

et 3 Fer ot o sitexet w1 3T fépam STt ®

T) SSTSS =) SseqUTH4 ) geeguit4 21 Seeg ity
Bolster is used in the following class of locos

a) WAGS b) WAM4 ¢) WAP4 - d) WAGT

MU2B 3 F 1 SIaehd! aTesl 3t ST 5 o foTe Iua e e
a)fesi@ by R AR A A9 SSA9 ) MU A A RSIscllh  d) Iuch H & hig Tl
MU2B and F1 Selector Valves are used to isolate

a) rear loco b) A9 and SA9 of rear loco  ¢) RSI block in MU operation  d) None of the above
St 32 7 Tl T o for foRa ST @

() e 7 et amt CURIBEESIY GURAR G E (@) FE W
DP Test is done to detect

(a) Acetylene content in oil (b) Methane level (c) inside void in axle (d) surface crack
et # iee xifem fi et &

©. g wmE A gig b. St s itk & g . nfa & i . AT (&l ofit (&) vt €
Field shunting in loco is done to

a. increase tractive effort b. increase power of loco  c¢. increase speed  d. both (b) & (c) are correct

WAG-7 @l st QLM AfeT 7
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

T, 9 Trft +ft. 8 e, 1. 7 Tl . 10 TR

QLM setting of WAG-7 loco is

a. 9 Amp. . b.8 Amp. c. 7 Amp. d. 10 Amp

3TET 3 YMYHT T 1 & 1T 1T &

T St . 4l . it & it

Noise / vibration level of bearing is measured in

a. DB b. dB c.GB d. BD

WAG-7 il § €9t %7 EFDG Higel R4 &

T, Qfeen higd 1. AT iz . &g T A G
EFDG coil of DJ in WAG-7 loco is R4

a. holding coil b. closing coil c. None d. Both (a) & (b)
fearelt S et T &

T, 4 it STt Aiex @. 6 Tiet TEt Arex d4va g 9. 6 e S e
Hitachi Traction Motor is a

a. 4 Pole DC Motor b. 6 Pole AC Motor c. 4 Pole AC Motor d. 6 Pole DC Motor
TR ferarfr &y fomam sirar @

T 6313 ©t 3 Fremft Famyr . 6312 C4 fewrel & |y
T, 6312 C3 et F aryr . 6313 C4 ferret & ry
U o fore megeft de o s g &

TUEH2 AT CACELEISIPECEE m-S N oL e 4 aT A IW

Minor penalties can be imposed to withhold

a. 2 sets of passes  b. 2 increments for one year  c. promotion for one year d. all the above
QT Heh <fteltell shr SgTe e Aream & forar s @

T, qgETE Q. I a€d H. 3T (T 3 (o) . 9 Qs Y 7t
Opening of the AAL Make VCB is done through

a. air pressure b. charged spring c. both (a) & (b) d. none of the above
WAG-7 Tt Gt st 3 fohet STt 3 Srafier o7 ST fikey strar 9

T St Sgfar . UK ST HF. gael e 9. fea faafar
What type of bearing is used in WAG-7 loco axle box?

a. Ball bearing b. Roller bearing c. Tapered bearing d. Needle bearing
STEHE WAP-4 Tl &, 35 W 1 26 T™S & el s TM Tt 1 3 T8 o, 6 a1 R wreiferd gar
T oft. RITRTHTS ot gt SECEkiy)

In a failed WAP-4 loco, it is found that in TMS carbon brush was touching to the TM body, which relay
would have been operated

a. QLM b. QRSI ¢.QOP1 d.QOP2
WAG-7 SIt I OHE WHIfET UreR &7 aeds o1 &

T, 25 et Tt . 1500 =ft el ot 11 Sheft welt 2. 440 <t wHt
What is the voltage of OHE feeding power to WAG-7 loco

a. 25KV AC b. 1500 V DC c. 11 KV AC d. 440 V AC
TSR S ST hi & AT Warr g ey 2

T, S HieT off. ITRTERTT scish 7. Frrwd Weuer 2. I

MVRH is provided to cool the
a. Traction Motor  b. RSI block c. TFP Radiator d. Compressor
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

WAG-7 St 3 1A 3R 1B gt 3 offe o1 e S s ... far

T, 45 g. 60 €. 90 .30
What is the time interval between IA and IB schedule of WAG-7 loco is ...... days
a. 45 b. 60 c. 90 d. 30
AR SRR ......... R G

T 2.0 .35 T.1.5 9.7.0
Loco brake applies ........... kg pressure

a.2.0 b. 3.5 c. 1.5 d.7.0
AH AT TR ... } Heiftr 2

T, ATHdt s, st o, dieltelt €. fird
Back lash” term is related to..........

a. TFP b. Battery c.CBC d. Gears
feeareht Siee ¥ eyt (o) FEE L Bl 2l

T 6 .4 T2 .02
There are ........... nos. of main poles (MP) in a Hitachi TM.

a.6 b. 4 ' c.2 d.12
AT F1 I0ENT A1 % fore fRar T ...

T Had dlees ol FHad aduH oY, et gy <1 S ot

Multimeter is used to measure ......

a. voltage only b. current only c. resistance only d. all of the above

WAG-7 @l e SRR Y ST hT STANT - &

T SRR SA ot Ssfehes i Y. T & STAARR
WAG-7 loco is uSing ...........eueuee type of bogies '
a. flexi coil co-co b. fabricated co-co ¢. Tri mounted co-co d. any of the above
AR ATERH .o e T 3 forg Fat <t de

T. 16 .32 T 12 . T & TR H TR T

Loco TFP has ...c.ccconennnne Nos. of taps for voltage control

a. 16 b. 32 c. 12 d. depending upon the type of loco
WAG-5 @ i Fex firae 3k wrge forrd & i o afer sfrra st st w1 82

T, 60:40 . 50:50 4T, 40:60 . 70:30

What is the ratio of percentage load sharing between center pivot and side bearers in WAG-5 loco

a. 60:40 b. 50:50 c. 40:60 d.70:30

Q118, Q44 31 QTD Fet ¥ ww foretar 1 &2

T 5 Aehe, 5 TS, | TS g, 5 ¥he, 5 UhS, 5 T

o, 5 ke, 0.6 Vs, S Whs gl 1 e, 0.6 ¥he, 5 W

What are the time delays of Q118, Q44 and QTD Relays?

a. 5 sec, 5 sec, | sec b. 5 sec, 5 sec, 5 sec c. 5 sec, 0.6 sec, S sec d. 1 sec, 0.6 sec, 5 sec
Arnmfea ¥ A Tt 3 T X 1 3w o e @

T =Ha Rawfen =it ufear feaern . s e AT HIH

Sand is used in locomotives to avoid

a. wheel skidding b. wheel slipping c. brake failure d. all the above
e =1 g e 3 for farer wheror féham wmar @
. iy . TR . oy &, qu e
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72.

73.

74.

75.

76.

77.

78.

79.

80.

8l1.

Leakage Test is conducted to find out leakage in

a. CP b. MR c. BP d. whole loco.
WAG-9 Sl & fafir= firg a1ama & '

T, 15:77, 18:64 @. 15:77, 20:72 dt. 15:77,21:107 q.15:77, 17:77
Different gear ratios in WAG-9 loco is

a 15:77, 18:64 b. 15:77, 20:72 c. 15:77,21:107 d. 15:77,17:77
WAP-7 Siteh! =7 31Rreram fET s 2

T. 260 ST g. 160 Fuq o 182 FH &) T B A ot 7
Maximum braking effort of WAP-7 Loco is '
a. 260KN b. I60KN c. 182KN d. None of the above
ZV-ZV ared 9 | it &

2t AR 2@l @ 4fidef et sals Wi sAdeN a3 T @5 Sfidiei 3 3 T

ZV-ZV Valve sets consists of
a.2 GTOs and 2 Diodes b. 4 GTOs and 4 Diodes ¢. 5 GTOs and 3 Diodes  d. 5 GTOs and 3 Diodes
WAG-9 Sieht § 299 Wed (ST Z UheT) X AT et B

T, 2180 Fee @. 2800 dee . 750 diee . 7 A o
Voltage applied to Traction Motors (Phase to Phase) in WAG-9 loco is

a. 2180 Volts b. 2800 Volts c. 750 Volts d. None of the above
afd ZBAN %t ey Rerer fifar srar &

T Ut 1 W R S @, St <Y SR Tl Bt 2

&t sfidt 7 g ST ® <. st 3wt v o

AT & SAI-1 T 39ff s Bt 2 ,
| g, -2 Y. 415 diee € <. A HY 110 dee
Machine Room blower-I receives supply from

a. BUR-1 b. BUR-2 c. 415 Volts directly d. 110Volts directly from Transformer
T T SHAISR 1 HLd1 2

T HfAT A H G, R S e g Ae i D. 3iEfei 3R A% Bee die §
Machine Room blower works
a. In cooling mode b. In driving mode c. In cooling and Driving modes d. In Driving and self hold mode

3 Sl lehl # RaHaieest Ret 3 forg &

T, i Ate # 3fieas diedst &1 daeT G. Ffeim Hre # sl diees w1 dde

T. 4% Bles HIS 7 aleest Gua 1. fmelT Hie & diedst wrevr § i
Minimum Voltage relay in 3 phase locos is for

a. Sensing of OHE Voltage in driving mode b. Sensing of OHE Voltage in Cooling mode
c. Voltage protection in self hold mode d. Over voltage protection in simulation mode
<fr St T i B 2 aveder Ry

TBswHe-2 A Wwmel-1¥78 Wt 86 wmeh-1 . TEsit-2 . 7 78

Minimum voltage relay in three phase locos

a. 86 in SB-2 b. 78 in SB-1 c. 86 in SB-1 d. 78 in SB-2
LSFI 3T et = 3 et 2
T, 33 +ff IT-yomredt e & oft. G srerfirehar-fedty erdt
&t 1S ot e Hiet gu © 2. T A hE ot et
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82.

83.

84.

85.

86.

87.

88.

89.

90.

ol.

Continuous glowing of LSFI indicates
a. Any of the sub-system is isolated

c. Any auxiliary motor is isolated

YT AU Sl Tt et §

T 172 AR g, 2180 e
DC Link voltage of Traction Converter is
a. 1172 Volts b. 2180 Volts
A st e B e HeE §

T, 3 % et for Seamm A

Y. 3 Yl T e SSHH HIH
Traction Motors in three phase loco are
a. 3 Phase slip ring induction motor

c. 3 Phase squirrel cage induction motors

b. A priority-II fault
d. None of the above

dt. 2800 diee & HE oft 7t

c. 2800 Volts

oft. 3 Ut qehIIeTeh I
2. St e Al

d. None of the abovel_

b. 3 Phase synchronous motor

d. DC series motor

3 W SorT B St AR HerRwrET:

T, 816 o ft. Bt T 3 Y, Bt 99 TR W & off s dr g
Battery charger rectifier in 3 phase locos: '

a. Half Wave b. Bridge Full wave c. Full Wave center tap d. Bothb & ¢
St fie e ok T TGSt S o & |

T, 2800 dleT 1. 2100 AT . 3200 AE 21 3000 AR
MUB acts when DC link Voltage reaches:

a. 2800 Volts b. 2100 Volts c. 3200 Volts d. 3000 Volts
S AR T 3T ATIHT g ST & q <freftelt foa gt <trar 2

T, 80 Tt ot 84 feift |, 75 ferft . 70 ferlt
VCB trips when transformer oil temperature rises to ,

a. 80 degrees b. 84 degree c. 75 degrees d. 70 degrees
e TSI T 38T &

T 4154w . 1000 e . 2100 dieE . 1200 dtee
87. Output of Auxiliary winding is '
a415Volts b 1000Volts c 2100Volts d 1200Volts

A7 =it i At s firehar-fee e wew & o ®

v fadiddt  damneeet . e F e wry

In three phases locos Priority-II message means

&Y. WA SIS i AR T T

a. Trips VCB b Shut down loco ¢ Isolates sub-system d Allows normal functioning
ST FrIoL Sl HTIYE ST

T. 60-120HZ st 62-132HZ Y. 50-100HZ RS ff T
Output frequency of a Traction Converter is

a. 60-120HZ b. 62-132HZ c. 50-100HZ d. None of the above
ZTEL T st v e s &

v, ¥ . Rim e %, R i & F AR
ZTEL switch is used in

a. Banking mode b. Inching mode c. Simulation mode d. None of the above
1 et ST 3 iR et 3 SRR

T, AT off. @ afi et et ff. Se ufrs & T A S ot T
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92.

93.

94.

9s.

96.

97.

98.

99.

100.

101.

é\'.
Type of batteries used in three phase locos
a. NiCd : b.Botha & c c. Lead Acid d. None of tlze above
T 89.7 . 78 . 89.6 <. 86
Primary over current relay is
a. 89.7 b. 78 c. 89.6 d. 86
E-70 <1 7 3uetow sQiagife el S ey
T 4 . 6 . 2 g3
Number of electronic cards available in E-70 panel
a. 4 b. 6 c.2 d.3
Felt HIET F T H Va1 T R 2
T, fiwT 26 st 9T 60 . e 59 3. it 6
The pressure switch associated with working of Baby compressor is
a.Pn 26 b. Pn 60 c. Pn 59 d.Pné6
WAP-7 §51 & & & 1@ o) ded o ey
T, 08 &t 12 . . 04 1. =iE 7
The number of sanders to be kept in service in WAP-7 locos is
a. 08 b. 12 - c. 04 d. None
E-70 St Rz Seht & coc-47 w7 37 R s
T, ST € oIl T R ofT. A9 % TTeAy & 3 e

. e s daremeEeT Hed 1 GeTer/ T
In E-70 brake system locos the coc-47 is used for

a. Moving the loco dead b. Application of brakes through A9

c. Operation/Isolation of PBU d. Operation/Isolation of sanders
HerehaT fRIToT Iushtor T & e s R @

T, 125 st 154 1. 160 €t 237.1
The switch used for isolation of vigilance control device is

a. 125 b. 154 c. 160 d. 237.1
e 2 o ot Rt 3 o serer v i arer v R 3

T, duT 44 . dieT 60 gt deT 09 <. e 26
The pressure switch used for monitoring working of pantograph is

a.Pn44 b. Pn 60 c.Pn09 d.Pn 26
30 TS # T-Ter O 8 % e Frfifaa Are fears 3

T, 590 1. 570 |, 550 <. 504
After completion of self-test in 30 locomotives following node will appear
a. 590 b. 570 c. 550 d. 504

30 $ort & <t frror qer Y forega R oRafda e T T ST )
T, T Hagsh . v Raw Y. ITR greIE . A I off 7
Conversion of BP control pressure into electrical signal in 3@ locomotives is done by
a. Pressure sensor b. Pressure switch  c. Pressure transducer  d. None of the above

Y shT TTTET AT 82 / What is the Official Language of the Union of India
MECEIREIEE:a Lo et o Heha € anfear
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102.

103.

104.

105.

106.

107.

108.

109.

110.

Aoft el 3 e Y forr Wi & wifirer fofa ST TR 7
From which course a Category ‘C’ employee is required to be trained?
©) weior &) ari o) v € w9

T&<t f<am %91 WA ST ® 2/ When is Hindi Day celebrated?

A) 153 B)26SHall  C) 1S 3agsk D) 14 fodert

FAAT T T TSTITST fomT, SR R T TR % T €7 / At present, who is in-charge of Department of
Official Language, Government of India?
AwmEt B ) el D) T wft

WA |fque & AR &Y sy Y R1 / According to Indian constitution, Hindi is ..... of India.
A) TS B) UMl C) TSI D) ferswman

maﬁﬁm%mm%gﬁaﬁw@mwaﬁﬁmﬁ éﬁﬁﬁmﬁaﬁmw%? / According to
the Official Language Act, from the point of view of correspondence, the whole of India has been divided

into how many regions?
A)3 B)5 02 D) 6

&<t o 9TH U 1 IV Answer to letter received in Hindi
A) T it € fear ST =feg B) SISt A A Thdl @
C) femer o & 3 W & D)3 & ETEHAT & A&l

RERILI Nﬁlﬁmmaﬁfm@ o7 2 In which year was the Official Language Act passed?
A) 1945 B) 1956 C) 1978 D)1963

S A FT Y SEAR 4T 3 (3) 6 Al T A ?
Which of the following documents are not come under section 3(3)?

A) IR /Notifications B) fifaard /Tenders C) HHHTQ: /Notices D) frzor = /

Invitations

'Draft for Approval' &1 f&dt e FTENT 2/ What is the Hindi translation of ‘Draft for Approval”
A) T oY T . B) 37T °q $IE T C) STHIGT g, HHIaT Tegd
D) SAHIG ¥ 3T e

***********t*************END***t*********************
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